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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry









Ratio-4 (MIXTURE BASED)

In a clags.the ratio of boysto girlsis4:3 . If
6 girl @ he class then the ratio of boys
to girls in the class becomes 8: 5,_Find the
total no. of students in the class @ T

FET A TASH! &I dSHaT F 4:3

¥ Ify 6 w=fhal wam oXF &4 ¥ ar

e A F3H AR wsfEAr F 9

ssaarartl amna#m#m
o TEAT AT AT?

(b) 60 : /¢, %
(d) 70 (e) 82 QW




MATHS WITH SACHIN BALIYAN SIR tk

Ratio-4 (MIXTURE BASED)

In a company no. of officers to workers V\)

are in the ratio 5 : 7. if 20 new officers 0 o

joined the company then the ratio of - o °r*\“

officers to workers becomes 25 : 28. Find L ~,(§ " P \

=

total no. of employee after new joining?

UH F94T A FAHNEAT 3 4@ i
&A1 5:7 & Hq9d A g1 I} 20 A
FIOFA Foh FA AT B &
FfOFRET 3R AR &1 I 25;
28 @ AT ¥ A% FaEfAT F am
mﬁ@mmm
(a) 104 (b)160

(c) 112 (d) 212 (e) 105

@-——-——/u"u'



Ratio-4 (MIXTURE BASED) ‘_ ATHS WITH SACH:iN BAL IYAN , "n

The ratio of milk & water in a s5:5° 7 / MIW ‘W |
3. If 32 litres o & @ W ~ =
replaced then the ratio | \S. 3 . = @

becomes then// U& add A qU
AR g Heqard 5:3 %uxfagz
dex Bsor F AEE w7

;a?r fr e @ IeurE 3:5 @
I
I) Find the total quantity of mixtu

fsor &Y Fa AET AG aﬁﬁ;n}?
Ans: 80 L

Il) Also find the Quantity of mllk in the
Initial mixture? TRINSF A5 & QI
$ AT AT HIAT?

l\
Ans: 50L \










Ratio-4 (MIXTURE BASED)

The ratio of milk & water in a vesselis 3: 2. If
@1 itres mixture drawn off & 15 litres of
i - io=-0f milk & water

Fqard 3: 2 Bl AR 25 e fAwor
Asa foar se 3T 15 e g =TT

ae, df g AR 9l #T 9T 3: 7 @)
STt g1 @sor fY IRBE FoO AET F
qdT ST}

(a) 40 (b) 25 (c) 27

(d) 42 (e) None of these
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Ratio-4 (MIXTURE BASED)

The ratio of zmc and copper in an alloy is
13 12 then f' nd the quantity of Zinc in(1
s.also glven that allo
has "' :
oo —JNI S a 13:12° 8
o ﬁmma fFam & i A
AT AE Aferel Tged R

fF Bsurg & 12.5% 3nEfar g

87

(a) 455g (b) 425¢ m’ﬁ ,

(c) 420g (d) SZOg @ \.0 \t‘\?

(e) None of these ?\(
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Ratio-4 (MIXTURE BASED) MATHS WITH SACHIN BALIYAN SIR
A vessel contains 500 _liters of @ If = goo\’

50 liters of milk W spraced Lk
water 4nd this procéss’is fu ;L

one more time. Find the in the
mixture finally? U T 500 X

agayq%t%luﬁsoahuapa;’rmm
T ¥ deo fear smar ¢ 3R sw
gfFar & vd IR Y ST Jar g
IT A Asor F a2 QU AT FT g

e ?
(a) 340 (b) 366
(d) 317

(e) cannot be determined










Ratio-4 (MIXTURE BASED)

A vessel contains 500 litres of pure milk. If

e

50 litres of milk is drawn off & replaced by

water and this process is further repeated
two more times. Find the milk left in the

mixture finally? U& @da # 500 #ex

T ffore? &
(a) 340 (b) 366.5
(c) 364.5 (d) 317

(e) cannot be determined
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Ratio-4 (MIXTURE BASED) MATHS WITH SACHIN BALIYAN SIR

A vessel contains 400 litres pure milk, 20
litres milk is replaced by water, 40 litres
mixtures is replaced by water, 60 litres is

replaced by water. Find the ratio of milk to
water now? U@ ddel H 400 #flex QIE}T

ﬁmt,uﬁmmzoaﬂamg

qEl aR

dcor fear Smar §, 3 3a # 60 #ex
Q! F dgd AT Far 1 9 FH qu
$T FAA9Td ATd HAT?

2
(a) 2907 : 1093 (b)1115:1113
(c) 2888 : 3723
(d) 2264 : 1729 (e) 1006 :1081



Ratio-4 (MIXTURE BASED) MATHS WITH SACHIN BALIYAN SIR

A vessel contains some pure milk . If 5 litres
milk is replaced by water & this process is
repeated two more times then ratio of milk
& water in the vessel is 64 : 61. Find the
initial Quantity of milk. U& adel A ?‘U
USY Y FIaT ¢1 5 ofieX qu # gl |
deor fear smar § 3R s9 ufhar &+ @
AT IR ST ST § AR T ada A
gaﬁrmﬂma 64: 61 B qU
YRIAS HAEAT FT 94T FA0
(a) 40 (b) 29 (c)27 (d)25
(e) 42



Ratio-4 (MIXTURE BASED)

A vessel contains some pure wine. 12 litres
wine is replaced by water & this process is
repeated two more time then ratio of wine
to water is 343 : 169. Find initial total gty
of wine? U&F Tdd H FT YGY WT
gt ¥ 12 fex W F ot F aEw
far amar & 3R 5w ufhar & &Y 3R
IR YT ST g, Y e 3R 9Tl
T F9Td 343: 169 ar g1 T #A
UFHTA! Fe HATAT FT TaAT FIATCI.

(a) 90 (b)96 (c)91 (d) 95

(e) 92
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Ratio-4 (MIXTURE BASED) MATHS WITH SACHIN BALIYAN SIR

Several litres of acid is drawn off from 54
litres vessel & same amount of water is
added. Again same quantity of mixture

is drawn off & same quantity of
water is added then now mixture

contains 24 litres acid then find the
drawn off quantity? 54 @t 919 &

(a) 90 (b) 72 (c) 54 (d) 36
(e) 18



Ratio-4 (MIXTURE BASED) MATHS WITH SACHIN BALIYAN SIR

In a vessel contains m : wis 7 : 5 how much
quantity must be replaced by water so that m:
wbecomes1:1?UHF adad H 7: 5 & HequTd
A qu AR gl gar 81 ot AEr 7 g
deoal TIgT afd qu AR 9l 1@ 1 @
SATT?

1 . :
(a) = of the initial mixture

(b) % of the initial mixture
(c) > of the initial mixture
(d) % of the initial mixture

3 e :
(e) = of the initial mixture












